
30.
(80 Minutes) (Prepare consolidation worksheet for a father‑son‑grandson combination. Also asks about income taxes paid on both a separate and a consolidated return)

a.
Purchase Price Allocation and Amortization

The January 1, 2003 book values are determined by removing the 2003 income from the January 1, 2004 book values (based on equity accounts).


Purchase price of Stookey (Investment account) 

$349,000


Book value equivalency ($380,000 x 80%) 

(304,000)


Customer List

$ 45,000


Life 

15 Years

Annual amortization 

$   3,000

Purchase price of Yarrow (Investment account) 

$741,000


Book value equivalency ($740,000 x 90%) 

(666,000)


Customer List 

$  75,000


Life 

15 Years

Annual amortization 

$    5,000

CONSOLIDATION ENTRIES


Entry *G



Retained Earnings, 1/1/04 (Stookey) 

7,680





Cost of Goods Sold 



7,680

(To give effect to unrealized gain from 2003. Amount is calculated based on normal 48% markup [found from Income Statement] multiplied by $16,000 retained inventory [20% of $80,000])


Entry *C1



Investment in Stookey 

86,856




Retained Earnings, 1/1/04 (Yarrow) 


86,856

(To recognize equity income accruing from Yarrow's investment in Stookey during 2003. Because the cost method is applied and no dividends paid, no income has been recognized in connection with the 2003 ownership of Stookey. Reported income of $120,000 [2003] less unrealized gain of $7,680 deferred above indicates a realized income of $112,320. Based on 80% ownership, an $89,856 accrual is needed, which is reduced by the $3,000 amortization for that year.

30.
(continued)


Entry *C2



Investment in Yarrow 

217,170




Retained Earnings, 1/1/04 (Travers) 


217,170

(To recognize equity income accruing from Travers' investment in Yarrow during 2003. Because the cost method is applied and no dividends paid, income has not been recognized in connection with the 2003 ownership of Yarrow. Realized income of $246,856 is calculated based on reported income of $160,000 [2003] plus the $86,856 accrual recognized in Entry *C1. Ownership of 90% dictates a $222,170 accrual that is then reduced to $217,170 by the $5,000 amortization applicable to 2003.)


Entry S1



Common Stock (Stookey) 

200,000




Retained Earnings, 1/1/04 (Stookey, as adjusted




by Entry *G) 

292,320





Investment in Stookey (80%) 


393,856





Noncontrolling Interest in Stookey (20%) 


98,464

(To eliminate stockholders' equity accounts of subsidiary [Stookey] against corresponding balance in investment account and to recognize noncontrolling interest ownership.)


Entry S2



Common Stock (Yarrow) 

300,000




Retained Earnings, 1/1/04 (Yarrow, as adjusted




by Entry *C1) 

686,856





Investment in Yarrow (90%) 


888,170





Noncontrolling Interest in Yarrow (10%) 


98,686

(To eliminate stockholders’ equity accounts of subsidiary Yarrow against corresponding balance in investment account and to recognize noncontrolling interest ownership.)


Entry A1



Customer List

42,000




Investment in Stookey 


42,000

(To recognize January 1, 2004 unamortized portion of acquisition price assigned to Stookey’s customer list.)

30. (continued)



Entry A2



Customer List 

70,000





Investment in Yarrow .


70,000

(To recognize January 1, 2004 unamortized portion of acquisition price assigned to customer list.)


Entry E



Operating Expenses 

8,000





Customer List


8,000

(To recognize amortization expense for 2004—$5,000 in connection with Travers' investment and $3,000 in connection with Yarrow's investment.)


Entry Tl



Sales 

100,000




Cost of Goods Sold 


100,000



(To eliminate intercompany inventory transfers made during 2004.)


Entry G



Cost of Goods Sold 

9,600




Inventory (current assets) 


9,600



(To defer unrealized gain on ending inventory—$20,000 x 48% markup.)


Noncontrolling Interest in Stookey's Net Income


2004 Reported net income 


$100,000


Realization of 2003 deferred income (*G) 


7,680


Deferral of 2004 unrealized gain (G) 


(9,600)


Realized income 2004 


$ 98,080


Outside ownership 


       20%

Noncontrolling interest in Stookey's net income 


$ 19,616

Noncontrolling Interest in Yarrow's Net Income


2004 Reported net income 


$200,000


Accrual of Stookey's income (80% of $98,080



realized income [computed above]) 


78,464


Amortization expense 


    (3,000)


Realized Income—2004 


$275,464


Outside ownership 


       10%

Noncontrolling interest in Yarrow's net income 


$ 27,546
.

30. (continued)
TRAVERS OOMPANY AND CONSOLIDATED SUBSIDIARIES

Consolidation Worksheet

December 31, 2004


Travers
Yarrow
Stookey
Consolidation Entries
Noncontrolling
Consolidated


        Accounts
Company
Company
Company
Debit 
Credit
Interest
Balances

Sales and other revenues
 (900,000)
 (600,000)
(500,000)
(Tl) 
 100,000



(1,900,000)

Cost of goods sold 
480,000
320,000
260,000
(G)    
 9,600
(*G)
7,680 

961,920








(TI)
100,000

Operating expenses 
100,000
80,000
140,000
(E)     
8,000



328,000

Noncontrolling interest in 


Yarrow's net income 







(27,546)
27,546

Noncontrolling interest in 


Stookey's net income 
              
              
              




(19,616)
    19,616

Net income
 
(320,000)
(200,000)
(100,000)





(562,918)

Retained earnings, 1/1/04:


Travers Company 
(700,000)




(*C2)
217,170

(917,170)


Yarrow Company 

(600,000) 

(S2)
686,856
(*C1)     86,856


-0-


Stookey Company 


(300,000)
(*G)
7,680



-0-







(S1) 
292,320




Net Income (above) 

(320,000)
(200,000)
(100,000)





(562,918)


Dividends paid
 
  128,000







    128,000

Retained earnings, 12/31/04 
(892,000) 
(800,000)
(400,000)





(1,352,088)
Current assets 
 423,000
  375,000
  280,000


(G)     
 9,600

1,068,400

Investment in Yarrow Company 
741,000


(*C2) 
217,170
(S2)
888,170

-0-









(A2)
70,000


Investment in Stookey Company

349,000


(*C1) 
86,856
(S1) 
393,856

-0-









(A1)
42,000

Land, buildings, & equipment (net) 
949,000
836,000
520,000






2,305,000

Customer List 
    



(A1)
42,000
(E) 
8,000

104,000




     


(A2)
70,000
      

   
 


Total assets
2,113,000
1,560,000
800,000





 3,477,400
Liabilities 
  (721,000)
  (460,000)
(200,000)





(1,381,000)

Common stock 
(500,000)
(300,000)
(200,000)
(S1)
200,000






(S2)
300,000



(500,000)

Retained earnings, 12/31/04 (above) 
(892,000)
 (800,000)
(400,000)





(1,352,088)

Noncontrolling interest in Stookey, 1/1/04





(S1) 
98,464
(98,464)

Noncontrolling interest in Yarrow, 1/1/04





(S2) 
98,686
   (98,686)
Noncontrolling interests in subsidiaries—


12/31/04







 (244,312)
    (244,312)

Total liabilities and equities 
(2,113,000)
(1,560,000)
(800,000)





(3,477,400)
Parentheses indicate a credit balance.

30.
(continued)

b.
Travers' reported income 

$320,000


Yarrow's reported income 

200,000


Dividend income (none collected) 

-0-


Intercompany gains (no transfers) 

-0-


Amortization expense 

   (8,000)


Taxable income 

$512,000


Tax rate 

        45%

Income tax payable 

$230,400
c.
Stookey's reported income 

$100,000



(Unrealized gains are not deferred on a separate




tax return.)


Tax rate 

       45%

Income tax payable 

$ 45,000
d.
(1)
Because 80% of Stookey's stock is owned by Yarrow, intercompany dividends would be nontaxable. Consequently, no temporary difference is created by Stookey's failure to pay a dividend.

(2)
Stookey's unrealized gains are recognized in one time period for financial reporting purposes and in a different time period for tax purposes. A temporary difference is created. The net effect is an increase in taxable income by $1,920 over reported income:


2004 Unrealized gain taxed in 2004 and not in 2005

$9,600


2003 Unrealized gain taxed previously in 2003 and not in 2004

(7,680)


Increase in taxable income 

$1,920


Tax rate 

     45%

Deterred income tax asset 

$    864

Income Tax Expense:


Travers and Yarrow—payable (part b) 

$230,400


Stookey—payable (part c) 

   45,000

Total taxes to be paid—2004

$275,400


Prepayment (Asset) (above) 

       (864)


Income tax expense 2004

$274,536
30.
d.
(continued)

Because a single rate is used, income tax expense can also be computed by taking consolidated net income (prior to noncontrolling interest reduction) of $610,080 (part a.) and multiplying by the 45% tax rate to obtain $274,536.


Income Tax Expense—Current 

274,536


Deferred Income Tax—Asset 

864



Income Tax Payable 


275,400

31.
(40 Minutes) (Prepare a consolidation worksheet for a mutual ownership using the conventional approach.)


CONSOLIDATION ENTRIES


Entry *C1



Investment in Murphy Company 

187,912




Retained Earnings, 1/1/04 (Daniel) 


187,912

(To accrue increase in subsidiary's book value for periods prior to 2004. Because of mutual holdings, the following simultaneous equations must be solved:)

Daniel's Realized Increment = $400,000 + 90% of Murphy's Realized Increment

and

Murphy's Realized Increment = $150,000 + 10% of Daniel's Realized Increment

Therefore,


DRI = $400,000 + .90 MRI 


DRI = $400,000 + .90 ($150,000 + .10 DRI) 


DRI = $400,000 + $135,000 + .09 DRI 

.91 DRI = $535,000 


DRI = $587,912

Because only a $400,000 increase in book value is recorded by Daniel, an additional equity accrual of $187,912 must be recorded in connection with the ownership of Murphy during previous years.

31.
(continued)


Entry *C2



Investment in Daniel Company 

58,791




Retained earnings, 1/1/04 (Murphy) 


58,791

Based on the two simultaneous equations presented above, 

the following computations can be made:


MRI = $150,000 + .10 DRI


MRI = $150,000 + .10 ($400,000 + .90 MRI)


MRI = $150,000 + $40,000 + .09 MRI

.91 MRI = $190,000


MRI = $208,791

Murphy's book value has had a reported increase of only $150,000. The $208,791 increment computed here necessitates a $58,791 equity income accrual to reflect the 10% ownership of Daniel.


Entry S1



Common Stock (Murphy) 

160,000



Retained Earnings, 1/1/04 (Murphy, as adjusted




by Entry *C2) 

258,791





Investment in Murphy Company (90%) 


376,912





Noncontrolling Interest in Murphy (10%) 


41,879

(To eliminate stockholders' equity accounts of subsidiary against corresponding balance within investment account and to recognize outside ownership at beginning of year.)


Entry S2



Common Stock (Daniel) (10%) 

5,000



Retained Earnings, 1/1/04 (10% of Daniel balance




as adjusted by Entry *C1) 

103,791




Investment in Daniel 


108,791



(To eliminate intercompany shares held by subsidiary.)


Entry I



Dividend Income 

27,000




Dividends Paid 


27,000

(To eliminate intercompany dividend payments recognized as income, $9,000 paid by Daniel [10%] and $18,000 by Murphy [90%].)

31.
(continued)

Noncontrolling Interest in Murphy's Income—2004

Murphy's Realized Income = $94,000* + 10% of Daniel's Realized Income

and

Daniel’s Realized Income = $200,000* + 90% of Murphy's Realized Income

Therefore


MRI = $94,000 + .10 ($200,000 + .90 MRI) 


MRI = $94,000 + $20,000 + .09 MRI 

.91 MRI = $114,000 


MRI = $125,275

Since Murphy's realized income is $125,275, the 10% noncontrolling interest is assigned $12,528.

*Reported income is equal to sales minus expenses; dividend income is not included.

31. (continued)
DANIEL COMPANY AND MURPHY, INC.

Consolidation Worksheet

December 31, 2004


Accounts

Daniel
Murphy
Consolidation Entries

 Noncontrolling
   Consolidated




Company
Company

Debit 
 
   Credit

                Interest
              Balance

Sales


$  (600,000)
$ (220,000)



$(820,000)

Expenses 

400,000
126,000



(526,000)

Dividend income 

(18,000)
(9,000)
(I)        27,000




Noncontrolling Interest in 


Income of Murphy 





12,528
     12,528

Net Income 

$  (218,000)
$ (103,000)




$ (281,472)
Retained earnings, 1/1/04:


Daniel Company 

$   (850,000)

(S2)   103,791
(*C1)   187,912

$(934,121)


Murphy, Inc 



(200,000)
(S2)   258,791
(*C2)     58,791



Net Income

(218,000)
103,000




(281,472)

Dividends paid 

    90,000
     20,000


(I)          27,000
(2,000)
         81,000

Retained earnings, 12/31/04

$   (978,000)
$ (283,000)





$(1,134,593)
Cash 


$      20,000
$    40,000



$       60,000

Receivables 

178,000
96,000



274,000

Inventory

125,000
108,000





233,000


Investment in Murphy

189,000


(*C1) 187,912
(S1)    376,912

-0-

Investment in Daniel


50,000

(*C2)   58,791
(S2)    108,791

-0-

Property, Plant, and Equipment (net) 

      651,000
    361,000





   1,012,000

Total assets

$ 1,163,000
$  655,000




$ 1,579,000
Liabilities 

$   (135,000)
$ (212,000)




$  (347,000)

Common stock 

(50,000)
(160,000)

(S1)   160,000













(S2)       5,000

(45,000)

Retained earnings, 12/31/04 

(978,000)
(283,000)




(1,134,593)

Noncontrolling Interest in Murphy, 1/1/04




(S1)      41,879
41,879
Noncontrolling Interest in Daniel


12/31/04





52,407
    (52,407)


Total liabilities and equities 

$(1,163,000)
$(655,000)



$1,579,000
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